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The Chairman of, International Atomic Energy Agency (TAEA) is
(A) Hans Felix ) Yukiya Amano

(C) Sterling Gole (D) Emely Crazon

IAEA oflén (International Atomic Energy Agency) spGumemsi Benaauir
(A) amrenev edléav B) whwur swrGenr

(C) ev@Lirelii Camed (D) enfied Cyzen

The article of constitution stressing on Equality before law is

A 19 . wp(m

© 21 (D) 29

FULSENE P SIMETau(HLD 101D cTen) auflymissib SFflumeoliy FULD
@ 19 ®) 14

©c 21 (D) 29

The Mission started by the Central Government to improve quality in higher education is

(A) NASA (B) HEA

W RUSA (D) MUDRA

2 wirs®eiulen FTEmS 2 TS LS STFTE Qgmrsiiul L Lewf
(A) NASA (B)y HEA

(C) RUSA (D) MUDRA
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4. Who made distinction between pure competition and perfect competition in economics?
»u/l E.H. Chamberlin and F.H. Knight  (B) Malthus
(C) Marshall (D) Martin

Qurmettgmsded  gniewwimen CGumiy wpmb shurer CGumigullen Gumgy eflgglwuinegens

IOLOSHweur wimi? '
(A)  E.H. smbuieflen womib F.H. enpi (B) wrégev
(C) ionised (D)  wmigen

5. MUDRA is an acronym for
Micro units development and refinance agency
(B)  Multi user Digital Ranking Assessment
(C)  Micro finance and union development reforming agency

(D)  Multi units development and regional Agency

MUDRA eflén efifleunssid

(A)  Micro units development and refinance agency

(B)  Multi user Digital Rénking Assessment

(C)  Micro finance and union development reforming agency

(D) Multi units development and regional Agency

6. The NITI Aayog Commission was created on
(A)  March 15, 1950 (B) March 15, 2014
\V January 1, 2015 (D) November 14, 2014

B8 2,Cuiné sy eemnub Bipeutiu - prer
(A)  wmig 15,1950 (B) wni& 15, 2014
©) geai1,2015 (D)  paubui 14, 2014
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The first person to enter into space was

(A) Alan Shepard

W’ Yuri Gagarin

(C) Edward H. White

(D) Valentina Tereshkova

Aem@euafiudier apsen (psedle HIPHS weflgi wri?

(A)  gemewr @eliui_ (Alan Shepard)

B) wil Casflen (Yuri Gagarin)

©) orefwiH gl (Edward H. White)

(D) QeuQevairigemwrT QL MevCameur (Valentina Tereshkova)

Who performed First Heart transplant in (1967)

J Christian Barnard

(C) Willem Kolff

(B) Jan Donald
(D) Ian Donald

@sw wrpp Sipeadldioms Qsiss ps waflgr writ (1967)

(A)  Alavgwer uirenmir(h

(C) eflevellwib sl

National Doctor’s day is celebrated on
(A) July 12t

(C) June 12th

Gadlw mbgeuisa FHemd
A) g% e 12
(C) ggrenl2

(B) gmen QuLrremmen(H

(D) Qumen QLrrenmed (B

J July 1¢

(D) dJune 1*

S|en) Qararm_ LG s
B) g9%wl
(D) granl
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10.  Four identical copper cylinders are painted differently. If they are all heated to the same
temperature and left in vacuum, which will cool rapidly? '

(A) _Painted shiny white

Painted rough black
(C) Painted shiny black
(D) Painted rough white

BreE @55 smily e mevarser QeucuCeugy eflgions auiremrid LELUREDg preng BTlTEE B eneus@nd
a@Cy Omuugﬂmmé@ GCLIDLILL ), GeupBlsde @aussLLREADS. @eunmien aBs sMlTs & [Heneu
Gausions @eflmid

A)  delgiurer Qeusrenar Blpd Lstiul g
(B)  Qamy Qenyuiimen smuy Hipid WEUULL g
©) Belaiurer S@UL Bipd yetiud L g
(D)  QsmpQemyiiuimer Qeusrenar Himb LEOuC L g

11.  Ohm's law does not apply to
(A) A.C. Circuits
(B) Conduectors

& Semiconductors

(D)  Conductors when there is a change in temperature

o ilf QsHE Qurmbsng?
(A AC. Wlemamm
B)  s_sdaer

©) sops_shadr
D)  s_ghsaflan QeuiuBlenay wrybCuirg

12. Who started “Bharatha Matha Association”

(A) _V.0. Chidambaram Pillai (B) Vanchinatha Aiyar
Neelakanda Brahmachari (D) Subramaniya Bharathiar
UMTS Wrgm SPESMS ng_n'ajﬁtuaufr Wwimr?
A s Egbumbd Gerenar (B) QUTEHEl Brg smuiuws
C) Sasar_ Qmbugsmh (D)  stywenflw unmydwimi
SIGS/18 6 o
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13.

14.

15.

16.

Which one of the following is not correctly matched?

(A)  British India society - William Adam

(B) East India Association - Dadabhai Naoroji

(C) ational India Association - Anand Mohan Bose
Indian Association . — Gopalakrishan Gokhale

Spsaramumasafid ag sfluns QurmssLILLalldema

A)  GACgey @pHur Qerens g - cHlaflwib s

B) mevl @iHur SCardGuisen - sngmumi QperGrred

(©) Cpagend @A oCaordlGuiser - e Guorsen Gumen

D) @pHuen CendlCusen - Carunedmagar Canaba

Rajaji started his Vedaranyam March from Tiruchi on

(A) 28 April 1930 | (B) 30t April 1930

(C) 13 March 1930 y 13t April 1930

el seigl GeugyeRud wrsdenrenw HmeSuddmHs! Qgm_midlw preT

(A) 28 guge 1930 (B) 30 giuge 1930

(C) 13 wmiv& 1930 (D) 13 glge 1930

Who was the first Woman President of Indian National congress

(A)  Sarojini Naidu : \MAnnie Besant

(C) Vijayalakshmi Pandit (D) Suchita Kripalani

@QpHu Ca&w smidpflan pse Qua Senaeui wimit?

A) sCrrgefl pmy® (B) enailCQuesir_

(C) efgubalsd uemg (D) &sgsr ﬂ@unmaﬂ

Who is the author of the book “Unhappy India”

(A) Bipin Chandrapal (B) Aurobindo Ghosh
Lalalajpati Rai (D) B.G. Tilak

“Unhappy India” — erémp mredle AW wir?

(A)  GGen spHyumed B) <=n9ECsT Camey

(C) arerogulymi (D) uresH&TST SeaT
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17. In which year Andhra Pradesh high court was renamed as the Hyderabad high court?
(A) 2012 NB) 2013

T 2014 (D) 2015

5% Spar B pbHom o wifd LDEMDLD mEAmSHTLINS 2 it wenpid erenm Guwi wrHmiu L g?
(A) 2012 (B) 2013
(C) 2014 (D) 2015

18.  The central bureau of investigation Academy is located at

(A) New Delhi &7 Ghaziabad
(C) Mumbai (D) Hyderabad
Wi Leemiey @upeflen Lidhmé Ppeand erkiCs BiLObgeTens)?
A  ysdeaed B)  srflurung

(€) ° qpbenvs (D) DANFTTLINE

19.  The minimum strength of a State Legislative council is
40 (B) 50
(C) 60 (D) 70

wrhle #1106 Coeeneuulr GOpHFuLs o pileniaaiar crarelEams
(A) 40 ' (B) 50
© 60 (D) 70

20. In which one of the following years, General elections to Lok Sabha was not held?
(A) 1996 1997

(C) 1998 (D) 1999

Spaéaem_eunble TS LeMiq ) oESETENaL AurgIECaised FLssiLLalhamea?

(A) 1996 (B) 1997
(C) 1998 (D) 1999
SIGS/18 8 e




21.

22.

23.

Symbiosis is an interaction between two species in which

Both live together in direct contact

(B) Both are benefitted

(C)  One benefits and other is neither benefited nor harmed

(D)  One benefits and other is harmed

Benenrey uUTp&HME Cop@anerenb @yerH 2 Wiiflentius@Enadlan_Cw 2 arer 2 mafled

A)  @ran®id Crrgwns Gmebs eurpL

(B) @ues(®bd vwen Gumid

(C) genmy uweamafl p@prenm e Feluyb Galwng Eriu@ b eflenenall&ang)

M) gy uwenraf wH@prany Srisrans)

Which of the following is incorrectly matched?

(A) Turner’s syndrome -
(B) Klinefelter's syndrome -

M Down’s syndrome -

(D) Super female -

Qemaumeueneupmier AUTmBSTSS) eT5I7
(A) et @eapun(h -

B) Aeerar QoL Gopurl® -

(C) Leyenr Geopur® -

D) LU Cues -

Dodo is a animal.
(A) Endangered

(C) Rare

GLrCGLr e AT
A)  efuyb Hee 2 udifl

(©C) eflu

44 autosome + XO

44 autosome + XXY
44 autoéome + XYY
44 autosome + XXX

44 p_u_cb(g(:vn(:p’mrr(ﬁamb&dr + X0

44 2 L a@CmGurGsmbsdr + XXY
44 2.1_oECmGrCGambser + XYY
44 2 |_agCrmGunGsmbadr + XXX

(B) Critically endangered

\V Extinct

B) scumesfiorer 2iflay BHlene 2 udfl
D) <ufibg Gumen
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24.  Nitrous acid, oxalic acid and acidified solution of FeSOy are examples for
Reducing agents (B) Oxidising agents

(C)  Additive agents (D) Both (A) and (B)

MBI Bleid, 2y ésTelld nSleid wpgib FeSOs wiflos semrad <y flueme STHDG FTEMSET?
A) qhsdsar (B)  saflgCenhhadr

(C) GsrulGsar D)  (A) wpgs (B) @élw Gram@id

25.  Blister copper is

‘ \/ 98% pure copper (B) 96% pure copper

(C)  90% pure copper (D)  92% pure copper

v Qasmiyer smiu erenug

(A)  98% g st (B) 96% s s

(C) 90% SN ST (D) 92% SN &TUUT

26.  The Region specified by x>0, x+ y>0 includes

J 1% quadrant (B) 2nd quadrant

(C) 3 quadrant (D) 4% quadrant

20, x+y20 e uEH THS &Te) LGl 2 erang

(A) s sraued (B) 294b sraugd
©) 3y snouEd D) Ay sréugd
SIGS/18 10




27. Match the following :

(a) 1°+6°+8° L. -27—2
(b) Value of 7 B 27
(c) 45% of 60 34 7
(d) Radius of a circle 4. 729
whose circumference
is 44 cm
(a) (b) (c) (d)
W 4 1 2 3
®) 1 4 2 3
€ 4 2 3 1
» 3 1 4 2
QurmSHS :
(a) 1°+6°+8° 1. 273
(b) Value of 7 2. 27
(¢) 60—and5% 3 7

(d) 44 Q.8 spperayenL 4. 729
QuULL GSlem b

(a) (b) (c) (d)

A) 4 1 2 3
By 1 4 2 3
©) 4 2 3 1
D) 3 1 4 2
O 11 SIGS/18
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28. How many bricks will be required to construct a wall 8 m long, 6 m high and 22.5 em thick,

it being given that each brick measures 25 cm x 11.25 cm x 6 cm? Y

6400 (B) 6300
(C) 6200 (D) 6500

@@ sauflen fanb 8 18, owpd 6 (8, paoan (swd) 22.5 Qsl sieraysdr Qe _g). @éseiany
sLBHausmE 25 Qa8 x 11.25 Qe x 6 Qal SAareyser Asran arsgsemear Qsiisdsdr ComeuuBmay?
(A) 6400 (B) 6300

(C) 6200 (D) 6500

29. A number is doubled and 9 is added. If the resultant is tribled, it becomes 75 what is that

number?

(A) - 35 (B) 6

W 8 (D) None of these

PO eremenflen @ wLki@Ler 9 & sl g aumd eflen apibioLisns LIHOUILLL T e eflen 75
arafley BIbS GTERT Wing?

A) 35 B) 6

©- 8 D)  aseSoon

30.  Find the value of ‘/6-«- V6 +/6+--.

‘\yfs ® 2
© 4

D) 1
\/6 +V6 +4/6+- an wélliemLs sners
A 3 B) 2
€ 4 D 1

SIGS/18 12




31. 5 2 xz

T =a; = =b and yyfz =¢, where a,b,c are all non-zero numbers, then x equal to
V' atew ® e |
O e O e
xxfy =03 xx:z =b wHmb - :z =c whmb a,b,c pHwer LRUILDHD eRTEET erafléd x —eo iy
® e ® b
CRE O ket

32.  The sum of two numbers is 2490. If 6.5% of one number is equal to 8.5% of the other. Then
find the numbers

(A) 989, 1501 (B) 1011, 1479
(©) 1401, 1089 JP7 1411, 1079

@ eranseflan sa@sd 2490. @@ cramafian 6.5%, wHApT@ cramefidn 8.5%HE &b aalld SiHS

CTERT &GN TS ST
(A) 989, 1501 (B) 1011, 1479
(C) 1401, 1089 (D) 1411, 1079

33. In atriangle ABC,|_B_= 90°, AB =18 cm, BC =24 cm, calculate the length of AC .

(A) 20cm (B) 40cm
M 30 cm (D) 35cm

A ABC-@& | B =90° AB =18 @s18 BC = 24 Qa8 arafier AC —en fHemid smer.

(A) 20 Q&b (B) 40 Q&b
(C) 30Q&b (D) 35Q&8

o’ 13 SIGS/18
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34.  The least number of five digits which is exactly divisible by 12,15 and 18 is

(A) 10010 (B) 10015
(©) 10020 7 10080
12, 15 wpmib 18- eu@u@id Wla&8 Bl bHleoss erem wng?
(A) 10010 + (B) 10015
(C) 10020 (D) 10080

35.  LCM of two prime numbers x and Y (x>y) is 161. Then the value of 3y—x is

" o B) -1

© 1 D) 2

xwomb y (@G x> y) aem B® van eramsafian 8.Qur.w 161 srafle 3y —x e wHUL eramg
A) -2 (B) -1

© 1 D) 2

36. If 21 cows eat that much as 15 buffaloes, how many cows will eat that much as 35 baffaloes?

49 (B) 56
© 45 (D) 42
21 ussser, 15 ergpeniae Sjerey stLlGSemen. erafle TESDEN LIsESET, 35 eensar 2aT6y
sl Hb?
(A) 49 (B) 56

(C) 45 (D) 42

37. ~ If 6 men working 8 hours per day and earn Rs. 8,400 per week, then 9 men working 6 hours
per day will earn per week :

(A) Rs. 8,400 u( Rs. 9,450

(C)  Rs. 16,200 (D) Rs. 16,800

6 Guir, @@ preneries 8 wenfl Cryid Coatena QsiLg), @m anrsHie m 8,400 swungladlanpent. erefed
9 Gurr, @@ Brenerée 6 wenfl Coid Couana Qaiiz) g umyESn @ ereucueTa, sourdiiumi?

(A) @ 8,400 (B) @ 9,450
©)  .16,200 (D) @ 16,800
SIGS/18 14 e




~ 38.  Match:

(a) Sathya Sodhak Samaj 1. Ramalinga Adigal
(b) Jeeva Karunyam 2. J)"otiba Phule

(¢) Dharma Paribalanam 3. Swami Vivekananda
(d) Stormy Hindu 4. Sri Narayam; Guru

(a) (b) (c) (d)

®) 2 1 3 1

C€) 4 1 2 3

D) 1 3 2 4

QuITmHEEIs :

(a) spw Gangs sLTRYD 1. @rmoedhs Sigser
(b) gBeu smmeRTILID 2. Ggrdur e

() s uflureend 3. seaumd sﬁlcmsnmgbgn
d) @bg ywue 4. prymUET G

(a) (b) (c) (d)

A) 2 1 4 3
B 2 4 3 1
(C) 4 1 2 3
D 1 3 2 4
o} 15 SIGS/18
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39. The Vijayanagar empire was divided into how many provinces?
(A)  Fifteen provinces (B) Fifteen districts

M Six provinces (D)  Forty five Talugas

silgupat Cuyys Tssmen WNETETRISTTS Afl&s0UC g mbsE?
(A)  ullemanbg wrsreaisaT (B)  udlemenig) wreul L kisdr

©) <y wrsremisen D)  prousesHs STQSETEEET

40.  Airavateswara Temple of Darasuram was built by the Chola ruler

(A) Rajarajal (B) Rajendral

M Rajaraja 11 (D) Kulothunga I

BNIT&ETSSD Dieniohg)erar @rmeufayauni Canrellanay &L igw Gamyp weteme

-~

(A apsemnd prgrmgen (B)  wpsomd mCyidHen

(C) @uear mb T ERITER et (D) apseombd GCansg s Gampen
41. Coniferous trees are found mostly in

(A)  Dececan Plateau Eastern Coast

(C)  Western Coast W:ddle Himalaya

sarflilenes sn@aser SremLLIL Saaig L @bEwireler LigH 18y ?

(A)  sésmer Sy, ' B)  fyés s_psery
(C) Cuong sL_paemiy (D) wiHu @wwiwena
SIGS/18 16 o




42. Match the following :

Vegetation type Average Annual rainfall (mm)
(a) Evergreen forest 3 50-100
(b) Monsoon forest 2. Below 50
(¢) Dry forest 3.  Above 200
(d) Desert forest 4. 100-200
(a) (b) (c) (d)
A 1 3 1 2
B) 2 3 1 4
© 3 1 2 1
% 3 4 1 2
Epsan_eaupep QUIHEES
ST UNS &m;mﬂ QU(HL LDEDpIIETEY (mm)

(a) w&emL LIPS ST[HE&ET 1. 50-100

() umeuasTHm sTHSET 2.  Below 50
(c) eupawL srHaEeT 3. Above 200
(d) ureeeuen sTHEET 4. 100-200
(a) (b) () (d)
A 1 3 4 2
B 2 3 1 4
(C) 3 4 2 1
® 3 4 1 2
o ) & S SIGS/18
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43.  Trace elements reqhired for plant growth
(A) NP K (B) Ca, Mg, Fe
P Mn, Zn, Cu D) C H 0
prauy euetiééléE CaemeuiuBib Feman L& E55|G&ET
(A) N,P,K (B) Ca, Mg, Fe
(C) Mn, Zn, Cu (D) CHO

44.  The principal genetic material of living beings

(A) DNA (B) RNA
" Both'A’ and B (D) Nucleolus
e ulimereraupied sreRriLBD apseTenio iyl Aurmer
(A) g.eeng (B) syirerarg
© ‘A wpgw ‘B D) BusaACumeds

45.  The Chief component of fungal cell wall is

(A)  Mucopeptide (B) Cellulose
y Mucopolysaccharide M) a-D glucopyranose
yehenasatier Qae seufler apasdlw 2 CQurpermeng;
(A) Bl CarQuiien @ (B) QsagiGamren
©) BACamu reSlanésent(p (D)  sypalur —5—-@@pCarenLiCyCanmen

46.  Which one of the following is not a feature of Indian Economy?

(A)  Heavy population pressure (B) Predominance of Agriculture
(C)  High density of population y Absence of poverty
Epaimeuaneupmyer erg @bHw Qunmemmgmysden Guidy SDDONHE ?
(A) waser Qgrens QumEsid (B) Geuermamenw GuCeamiid Hlhmed
©)  sifswran wésear Agrens SILTHH D)  apewaemo

SIGS/18 18




47. Liberalisation of economy refers to

(A) A regime in which many standard traditional public finance are abandoned
% Policy whereby different controls and restrictions are to be removed in Industry
(C) Take over of a relatively weaker firm by a stronger firm

(D)  Policy where by domestic producers protected from foreign competition by rising tariff
walls

QUTETTSIT STTETLOWIDTESHE ETEILIS)

(A) ‘ug;snmu_mm Quirg H sriihs sHEEIEsmar sl Heugl

(B) GQsmfasafle $;_GiTGT LeGaiy sL_HUTHSET O swLsmer badlem Gsranems

©) pdaeLps feaulore Hlpeuambsmar, augieurar Hpeuamiser AU bElsdarererd

D) Qauafipri® Gumigemen Besaufl@eard sHs5H o6 HIH p_mugﬂunmns@asg
ungsTiLet S5

48. Consider the following statements and choose the correct code given below

Statement 1 : Whole sale price Index is constructed and released by central statistical
‘ organisations

Statement I1: Consumer price Indexes are prepared and released by the office of economic
advisor Ministry of Finance.

(A) Onlylis correct \/ Only II is correct

(C) TandII both are correct (D) Neither I nor Il is correct

Spsar_ sapmbE sflurer GHlu oL srems.

mppl: Gurss epumen alow GO QL amena SieUILIGID HHID QeuaflldHeugid wHEW
Leraflufwich emoiy

smpm 1 maiGoaumi eflena @HluiL G cwmenent swrit Asiisgib wHpd QeuafuiGeugid QummeTTBy

o Garsst Bl sgeumsd
A)  sapm I L ED s (B) snpm I wi G &fl
(C) sapm 1, [I-b &f (Gresr(id) D) ampm I wpmd IT sflwee
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49.  Prime Minister Shri Narendira Modi flags off ‘Run for unity’ to mark the birth anniversary
of

(A) Mahatma Gandhi

(B)  Netaji Subhash Chandra Bose
& Sardar Vallabhai Patel

(D)  Acharya Vinoba Bhave

Gggor pCrhdy Guomg * SONOWESTET QUL g Oasmq. DADESF) a Yphs
prevarQuim’ . gleusdl eneugsi

(A)  waprswr s
(B) G‘mgngﬁl suneiy sH8ly Cumen
(C)  signit cuddeumis LCL e

D)  eyseminu fCarmur urCeu

50.  Which Country won the maximum medals at the 18 Asian Games 2018?

W China (B) South Korea
(C) Japan (D) Indonesia

18-eug) pdlwi eflenemum’ @ Cum_igser 2018- erbs B SFsu s LssatsmaTE @N555?

(A)  ewsanr (B) seoys Qs
©) guuren D) @BCanCendluim
/
51.  Narasimha Commission’s report is about
(A)  Reforms in Insurance Industry \M Reforms in Bank'mg Industry
(C)  Reforms in Tax (D) Reforms in Agriculture

BISIbI06T @Y SiflEms crengL) L dlwig)?

(A)  srSLRS slenude &gl mss1d B) andsgopula Erdlmssid
©)  afigpepudea S mssid D)  dleusmugder &ifmssio
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52. The 4t» BIMSTEC — Summit — 2017 was held in
(A) Bhutan Nepal

(C) Bangaladesh (D) Pakistan

4-qug) BIMSTEC- 2017 2 &#flonpn() e perLQuimg?

(A) yimen (B) Cpumembd

(C) uvrsamCges D) urdlavgmen

53.  Global Entrepreneurship summit — 2017 held in

(A) Bengaluru (B) Cochin

\/ Hyderabad (D) Chennai

2017-1b ey paren 2 asameiiu Agmfle wpeaarGarmaamen 2 &8 rpr® peGubp GL b
(A) Quriisenm (B) Qar&d

(C) eansyTuNs (D) Qsenenan

54. Price rigidity theory was developed by whom?

M Paul Sweezy (B) Paul Ram

(C) John Paul (D) Paul Sanjay

aflena eflepliygdpen Cam_um® wryred e (HeunssriurL g7
(A)  wmre evelis (B) wumé gmb

(©C) gmen ured ‘ (D) ume FEpsw

o] - 21 SIGS/18
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55. India Launches its first national healthcare facility registry called
(A)  Ayushman Bharat Scheme (ABS)
(B) _ Central Bureau of Health Intelligence (CBHI)
National Health Resource Repository (NHRR)
(D)  Dhanvantari Medical Scheme (DMS)

QpHur Agm_rudu apse Cadlw sansmy Caemeu udley, eTenm Bjenp&sLHE DS
(A)  Ayushman Bharat Scheme (ABS)

(B) Central Bureau of Health Intelligence (CBHI)

(C)  National Health Resource Repository (NHRR)

(D)  Dhanvantari Medical Scheme (DMS)

56. Vansda National Park is located in

(A) Assam g (B) Uttar Pradesh
Gujarat (D) Bihar

cueevLiT CHélw Lymist & 2_eeng)

(A)  syevevmbd B) e 58y WCssid

©) >y (D) Sani

57.  The study of the presence, distribution and prevention of disease in populations is called as

"(A)  Ecology (B) Encyclopedia
\V Epidemiology (D) Environment
wésar wsfluiler Cpmisdar @muug, sflflGursn wHmb sEUY UbBwL ey updl Liglug
D SiewpsdlenGomb
A  @ydua (B) sowsserggflwin
©) Crmulwe (D) &EHMIFSLPED

58.  What was the GDP growth target fixed for Tenth Five Year plan?
A) 7.5% (B) 5.6%

7 8% (D)~ 8.3%

ussreug ghsrar® HlLsHear Qurss Cslw 2 pusdl (GDP) cueriédl @eéars Biemuib
Qeaiwtiul L sseisid erenen?

(A) 7.5% B) 5.6%
(C) 8% (D) 8.3% ’
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59.  Which IT company has announced a strategic partnership with Flip kart

(A) Google (B) Apple
(C) IBM M Microsoft

aps Quar@ummer Hpeuend Gfllsmil  Hpeuadgen  URIGSTTT yfibgienriey @UUBSD

Qeligierensns ibleflEaiiL g7
(A)  sa@er B) <uGer

(C) @9erbd (D) q)mé;Gl;rrrgm'_u;

60. Raman effect is due to

(A) Incoherent Scattering \/ Coherent Scattering

(C) No Scattering (D) Refraction
@nmoen afleneray ergenTed o L TADSI?
A  efllue s@ars Ssnad B) eflwe fzpe

(C) Sspe Georena (D) geflcllasgd

61. Hydraulic lift, hydraulic press and hydraulic break work on
Newton's law (B) Archimede’s law

M Pascal’s law (D) Bernoulli’s law

@anl_rells gnsdl, eanlyrells iapssl WwHHID @manl_gredls s Cumern Qupdrmser erbHs

aflfuferuig QeweuBEng
A) Pl e el (B) yiésfibligen efF
(©) umevse il (D) Quirenmel aflF
o] , 23 SIGS/18
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62,  Match List I with List II and select the correct answer given below:

(a)
(b)
(c)
(d)

(A)
(B)

List I

Abhinava Bharat

Ghadar party

Hindustan Republican Association

Indian Independence League

(a) (b) () (d)
2

—
—
o

3 4 2 1

M 4 1 2

(D)

3

8]
—
—

List II
1924
1942
1907

1913

utiguwed I g udigwe IT 216 Uil () sflwrer eflenenw CabEs®Haseayid

(a)
(b)
(0)

(d)

(A)
(B)
(©)
(D)

SIGS/18

uligwe I
29 Bl ungs

a5 &8

ablpgiavgrer Auuliefsen oCandCuagen

Bibflwsen @)ebrig QLiawT_etran 655

(@ (b () ()

2 1 1 3
3 1 2 1
3 4 1 2
3 2 1 4

24
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63.

64.

65.

66.

Part IX of the Indian constitution deals with

(A)  Municipality J Panchayats
(C) Central Government (D) State Government

Qi sirflueamwiifer gaugrag LGS asman LpH samdng)?
(A)  paym_Sser (B) ugssmwusgser
(C)  wsHu sFsTRSD (D) mnﬂw‘ausmﬂ&b

Which one of the following states was not came in to being in the year 1987?
(A) Mizoram (B) Arunachal Pradesh
(© Goa P Sikkim

Spseam_ wrhlonsaile erg 1987-b gyan® yHw wrfowrs siflellésiualdme
(A) OGsmmb (B) <amawnsa ArCssid
(C) Gameur (D) Asdib

Which Article of the Indian Constitution dea\lya Fundamental Duties?
)

(A) b50A 1A
(C) b52A (D) 53A
SiguueLé sLamwsamer upbl sagib @b sirflueeaoliy el erg?
(A) bH0A (B) 51A
(C) b52A (D) 53A

The whips in the Indian Parliament are appointed on the basis of
(A) Parliament Statute
(B) Rules of House

Based on the conventions of Parliamentary Government
(D)  Rules of the party

@pdu umymEpwearmsHe QamnLrésar Huiweand Gauiuliu@ib Sjg L
(A)  unmym@poenm s efFLg

(B) senuullen eflfliLig

(C)  umymepenn ysrRssSHen LI saflear BigUumLuld

(D) s Aulen elfiug
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67.

Who among the following was NOT a 'part of the Group of Interlocutors for Jammu &
Kashmir appointed by Central Government in October, 2010?

(A) - Dileep Padgaonkar \M P. Mishra
(C) Radha Kumar (D) M.M. Ansari

Epssam_cuisEner &EGLILT, 20106 widw sirs Fullss e sreydi wrle cdeusThisedr
Qgnirunen Guisaunisamgsaner HluamT @pellen mswLTE Gldamgeul wmi?

(A) Sl u Canenair (B) P. Segym

(C)  gngm @i (D) M.M. sensnfl

68.  District Rural Development Agency was setup in the year
(A) 1970 (B) 1975
" 1980 (D) 1985
wreulL 2arys eueniédl apseno Campmelldasiiuc L e
(A) 1970 (B) 1975
(C) 1980 (D) 1985
69. The constitutional provisions regarding disqualification on Grounds of Defection is in
(A) 5t Schedule (B) 6t Schedule
(€) 9 Schedule 10 Schedule
&L A5 greuard ghudD sEHulpiysame s upHlu Srflueawly Sibsmser @b dupblmoug
(A) mHsTaE DiLLCuEHEmRT (B) apmeug il cuenent
(C) @eusTeug 2L cuenemt (D)  ussTeug 4 _L_cuenem
70.  Articlg 368 of the Indian Constitution provides for —————— types of amendments.
2 B) 3
© 4 D) 5
@pHu srHueaoller eflf 368 —————— aumaswnear s Smssmsmeans updl spieusTELD.
A 2 (B) 3
© 4 D) 5
SIGS/18 - 26 o



The male honeybee has —————— set of chromosome.

(A) Diploid @7 Haploid

(C) Tetraploid (D) Polyploid

e Cpatassr ————— @GrmGunGembad @ uéset AupHlmsaAnsg:.
&)  glermi® (B) Capliemmii®

(©  Quigriemmi (D) uneliiammis®

Which of the following could act as a propellant for rockets?
(A) Liquid hydrogen + Liquid nitrogen
(B) Liquid oxygen + Liquid argon

M Liquid hydrogen + Liquid oxygen
(D)  Liquid nitrogen + Liquid oxygen

m&Q@a Quisdlseral LwetuHeug) eTg?
(A)  Sreu ewam e + Slyeu enpLIFEe
(B)  dlrew aflmen + Slyeu sy ismen
(C) dyea eman_ygen + Syeu < &8lgmen
D)  Alreu enplimen + Syeu y&Hmen

Which of the following is not a Lewis acid?
(A) BF3 (B) AlCls

(C) BeCl: Msamz

Gemeumeuenaunmyer 67 epuilev ydled e ?
(A) BFs (B) AICls
(C)  BeCl: (D) BaCl2

27
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74. If%=% and 8a+5b=22, then the value of a is
. \ﬂ( =
A — =
(A) 1 5
5 7
w 2 Dy 4
© : (D) 5

%:% wppb 8a +5b=22 aafld a — e wiiy srers

®)

<o e |

(D)

|- ol

75.  Two series are given below with specific pattern

7 | 24|10 | 33 | 145 ]| 46,5

11 (@ | b)) [ | d) | (e)
What will come in the place of (¢)

1
W 51 ®) 237
1

(©) 195 (D) 16

ECy Qar@asuul L, HUG L 2 shla@epen sigw @ Aariraafle (¢) — e Al snewrs

, 7 |24[10]|33|145]| 465
11 [@|®|[@][ @ | (€

@) 51 ' (B) 23%
© 195 D) 16
76.  There are 600 students in a school. Each offered either English or Hindi or both. If 75%
offered English and 45% offered Hindi, how many offered both?
(A) 48 (B) 60
© 80 G 120
@m uetafluilé o erer 600 wreawaisERsE@ @auCaunmaumsEd yhudon oag Qb oz
Qran®n ulppelldsiuGipg. 75% mdon wpod 45% @nd L@ppelssiubBang efd
@rearHio LuGgubd wrerTeuiaeT erggener GuT?
(A) 48 (B) 60
(C) 80 (D) 120
SIGS/18 28
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78.

79.

Insert the missing number

7,26, 63, 124, 215, 342, —— -

(A) 481 JSI]

(©) 391 (D) 421
Qar@sstiuL Qs Mo, APULL ararameans sreams

7, 26, 63, 124, 215, 342,

(A) 481 (B) 511

(© 391 (D) 421
Ifa:b=3:2, b:c=3:4, c:d=2:3 find a:b:c:d

(A) 3:2:4:3 (B) 9:6:8:6
N 4 9:6:8:12 (D) 3:6:8:12
a:b=3:2, b:c=3:4, c:d=2:3 aafl® a:b:c:d ganem
(A) 3:2:4:3 . (B) 9:6:8:6
€ 9:6:8:12 (D) 3:6:8:12

How many combinations of two-digit numbers having 8 can be made from the following

numbers?
8,5 2.1.9.6
A 9 (B) 10

M 11 | D) 12

8 g @ cramanna Aarerr erever Gmg.safier cramreanfléans ersgaman?

8,5 21,76
A 9 (B) 10
©) 11 D) 12

29
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80. A pole 50 m high stands on a building 250 m high to arm observer at a height of 300 m, the
building and the pole subtend equal angles. The distance of the observer from the top of the

pole is
(A) 25m (B) 50m
© 25y3 m ' WP 2546 m

@@ sbubd 50 Blod e wrsdled 250 Bl e wyaperer @ slgL Sdé Cuwed o arargy. 300 Sl
2 wrgdler 2 arer g wallseEdEE 2iHs SbUAD, sl apb @Gy Cri Caransda Qmedng. b
weaflgen ereucuarey Hsdle 2bs sbuGHlen o &dlenw LrTlLTer

(A) 25 Bl (B) 508

(C) 2543 Boii (D) 256 B

81. The radius of a circle is increased by 1% what is the increase percentage in its area?

A 1% B) 1.1%

© 2% G 2.01%

el sSlen mb 1% 2 wmdpg sicueul L sHlern 2 wibgieter LU s5ei55560 sam?
A) 1% B) 1.1%
© 2% (D) 2.01%

82.  If 15% of 40 is greater than 25% of a number by 2. Then find the number

@ 12 O 16

© 24 (D) 32

40-emn 15%, @ erawrenflen 25% g eflL 2 siflswns o creng) erafle) b cTeRTenEMIE HT6RT
A 12 (B) 16
© 24 (D) 32
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83.

84.

85.

4 men and 6 women can complete a work in 8 days, while 3 men and 7 women can complete
it in 10 days. In how many days will 10 women complete it.

#) 35 G 10
D)

(C) 45 50

@ Caumaam 4 yamsEnn, 6 AuarsEnb Caigg 8 priser delidlprisdr, Gugid G Caumaamw
3 yamaEnd, 7 Quenrsern Caibg 10 prisear Qeudlpriser. 10 QuaradT WL Hb 2iHs Ceuameaenws
erggenen prisate Galig wpyliuriser

(A) 35 (B) 40

(C) 45 (D) 50

Find the value : F';liz

5—|3
@) 3+[15 \/44?5
© 2+[12 M) 4+[12
m@ﬂq&neﬁr:[_ztllzg
@ 3+[15 . ® 4+[15
© 2+[12 . O 4+12

Three numbers are in the Ratio 1:2:3 and their H.C.F is 12. Find the numbers.
(A) 4,8, 12 (B) 5, 10, 15
(C) 10, 20, 30 12, 24, 36

apenm eramaar 1:2:3 eremp efldlssHd semwpgierarar. seupdlern 8.Qur.eu 12 arafle Sips ramsmand
SRS,

(A) 4,812 (B) 5, 10,15

(C) 10, 20, 30 (D) 12, 24, 36
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86. A cubical tank can hold 27,000 litres of water. Find the dimension of its side (in metres)

(A) 27m

W 3m

(B)

9m

(D) 6m

Q0 sa& sg7 wge By Agmigullen Qarerararey 27,000 S Lit erafld) igen LGS SjeTenaus STeRT

(BLMed)
(A) 278 B) 9.5
(C) 3.8 (D) 6.8

87.  Mahavira preached his philosophy in which language?

(A) Magadhi

Suraseni

(®) (D)

WArdha Magadhi

Apabhramsa

waETelyT S Shgieukisamen ahs Qumfuia Curdssmi?

A) wsd

ayrQsenaf

(B)

(©) (D)

88. Who was the founder of Nalanda University?

(A) Samudra gupta (B)
\M Kumara gupta (D)
BIETHET L&SmaEspasms Hlimellweur wiri?
(A)  spsdly GLsT (B)
(©C) @ ELsT (D)
SIGS/18 32
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89.

90.

91.

Name the founder of “Young Bengal Movement’.

(A) Swami Vivekananda M Henry Vivian Derozio

(C) A.O. Hume (D) Anne Bessent

‘Gemb QuiiaTed Quisssms Hlmefwieur wimi?
A) saumd dlCausrenbsim (B) Qamenl efleflwen g Cymaflwim

(C) A.O. abuyo (D) =enafl Queneair

In which year the battle of Wandiwash took place?

(A) 1757 (B) 1759

y 1760 (D) 1763

aupgeurdlLs Gunt e Qupp e e7g)?
(A) 1757 B) 1759 1

(©) 1760 (D) 1763

‘Vernacular Press Act of 1878 was passed by
(A) Lord Ripon ] (B) Lord Duffrin
Q" Lord Lytton (D) Lord Canning
smiLGwmf usHNEmes s 1Lsms, 1878 —b e[ Garam(® auhs seufreari Gigene wmi?
(A) MAouer Qyy (B) cofer Gy
(C) eflienm Gy (D) sraflm 95y
33
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92.

93.

94.

In the Indian peninsular what type of forest are found

(A) Coniferous forest (B) Tropical forest

M Monsoon forest (D) Sub-tropical forest

Suspu @pSureild sremiiLL_ssmigw sTHERan cuems wrg?
(A) eafl@ews sr@sdr (B) <ywer wewr_e sr@ser

©)  umeus sThy wes sTHEET (D) 2u wensaRTL ETHEET

Which one of the following is not a tiger reserve?
\W Bhagwan Mahavir (B) Gir
(C) Indravathi (D) Ranthambore
Epsam_cupmier erg) LelaeT syemmTewD SenL_wirg)?
(A)  umeuen wamelT (B) 4
© @pdrreud D)  pgenyir

Which one of the following National parks is not correctly matched?

(A) Balpakhran — Meghalaya \M Panna — Bihar
(C) Molem — Goa (D) Van Vihar — Madhya Pradesh

Epsam_auppier seupre AurmssLLLHerar Coélw kst ag?
(A)  unme usyen— Cuasrewr (B) wemenrm— Sami

(C) Cuwrgyb - Gsmeur (D)  euen ellan— wsHw GrGsen A
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95. Match the following :

National parks States
(a) Anshi ; 8 Rajasthan
(b) Bandipur 2 Karnataka
(¢) Desert park 3. Tamilnadu
(d) Guindy - 4. Karnataka

(a) (b) () (d)

B 1 2 3 4
(C) 3 1 2 4
D) 1 3 2 4
Spsam_cunern QUTHSEIS

Caflu yrism mflemniser
(a) oemafl 1. grgevgren
(b) wmBHlyT 2.  aiprsT
(c) umeneeuean YmisT 3.  sblprrH
(d) Alewng 4, STHIL&ST

(a) (b) (© (d)

A 2 4 1 3
®B) 1 2 3 4
€ 3 1 2 4
D 1 3 2 4
ol 35 SIGS/18
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96.  Assertion (A) : Industrial policy of 1991 initiated the piocess of liberalisation of Indian
economy.

Reason (R) : Indian economy was integrated with the world economy in 1995

% (A) and (R) are correct, R is the correct reason for A

(B)  (A) and (R) are incorrect but R is not the correct reason for A
(C)  (A) is correct but (R) is incorrect

(D)  (A) is incorrect but (R) is correct :

sapm (A) - 1991 gew® Azmfip@srdrems @S Aurmemsyib gryneriowinreemsg Ggrrud
@b

smpamb(R) : 1995  geged @pHul  QurmesTIb 2 @sL QuirreTTSTISHEL 6o

Rradlameamda i Lg)

(A) (A wpmd (R) s, (R) eranugl (A)sasnen sflwnen sryewmd
(B) (A wpmbd (R) &f. 2pame (R) eremug) (A)&a:nfm FHWITGT SMTERTLD {06
© (A ol gyema (R) paup

D)  (A) seumy syenned (R) &

97.  The high yielding variety of wheat used in Green revolution was developed in

Germany (B) Netherland

(A)
\M Mexico (D) Brazil

ugeol L Aulle uweanuBSsiuEb Cangewufar efflw eflengenwt o peuradlu B
(A) Qmmoefl (B) Qpsireonsn

(€C) QuaedGar (D) GCrée
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98.

99.

100.

When was the Congress Government passed the 73" Amendment for .Panchayat Raj?
December 22, 1992

(B) December 23, 1992

(C) December 24, 1992

(D) December 25, 1992

ugemuss TTRUsHDETs 737 sflueenliys Hmsssme sy Syemhsd erudunepg
HlenpGeumdlwig?

(A) 1992, gsbui 22

(B) 1992, g&bui 23

(C) 1992, ysibuit 24

D) 1992, Iﬂ.ELbLJfT 25

Which one of the following is not a function of the Reserve Bank of India?
(A) Banker to Government (B) Custodian of Foreign Exchange
(C) Banker's Bank \y Advances loan to the people

Qenaumesaraupmer arg @pdw Mareu euridluflen Qawoun® Siww?
A) erdpsren cumid (B) <pHus Qsaaumesiludien LING,) STaUa0En
(C) aumdlsaflen curudl (D) Quig ESEHES S QUPRIGSD

India’s food grains production in 2014-15 was
(A)  90.5 million tonnes 252.7 million tonnes
(C)  280.5 million tonnes (D) 296.4 million tonnes

2014-151b yairig ) @pHunelan o amey graflu 2 Hsdluden sierey
(A) * 90.5 Bleveduwsen Lenser B) 252.7 Aevedluie Lenger
(C)  280.5 fléedlwien Lenaer (D) 296.4 Weedlwen Lansem
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questions you are to mark with Blue or Black ink Ball point pen ONLY ONE circle of your choice for
each question. Select one response for each question in the Question Booklet and mark in the Answer
Sheet. If you mark more than'one answer for one question, the answer will be treated as wrong. e.g. If
for any item, ® 1s the correct answer, you have to mark as follows

@000

You should not émove or tear off any sheet from this Question Booklet. You are not allowed to take
this Question Booklet and the Answer Sheet out of the Examination Hall during the time of
examination. Afte e _examinati IS . ! - : : o8
nvigilato

| at are all ike th 3L with 1 only after the Examina 1S s
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